Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 1

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Although many people who have sleeping (1) 
, either chronic (2) 
occasional, automatically reach for the sleeping tablets when they see a difficult night (3) 
………. of them, there are a number of so-called "folk" remedies which are not (4) 
… cheaper but also much safer in the long (5) ….…… . Most people have tried (6) ……… a hot drink such as milk or one of a number of herbal infusions before going to bed, (7) ……….. there are other, less well-known (8) ……….., which can help you on your way to a restful night's sleep. One unusual but (9) ………… technique involves, not warmth as you might (10) …………, but cold. Before going to bed, run very cold water for several minutes over your forearms and legs from the knee (11) ………….., then dry yourself quickly and hop into bed. You will find yourself feeling totally relaxed and drowsy. Another unusual (12) ……….. has to do with eating or, to be more (13) ……………., chewing. Take a large apple, wash it and eat it slowly, taking particular (14) …………… to chew the peel thoroughly. Chewing is not only relaxing in (15) ……………., but the peel of the apple (16) …………… a natural substance which (17) …………….. relaxation. Meditation, stretching, walking and even (18) …………….. sheep are also effective methods for many people. Clearly, there are many ways to (19) ……………. the pill- popping route and still (20) ………… a good night's sleep.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
Although John studied harder than anyone, he failed the exam.

In spite



b.
What a pleasure to see you here!

How


c.
It was only when I got home that I realised I had forgotten my keys.

Not until


d.
There has been a large increase in unemployment this year.

Unemployment


e.
This matter is no concern of yours.

This matter does not


f.
Applications are accepted until June 3rd.

The final date


g.
The only reason I am late is that the traffic was so heavy.

Had it not


h.
I certainly don't mean to do it before tomorrow.

I have

i.  You don’t have to pay for the delivery.

     The delivery…………………………………………………………………………….……

j.  Martha is both a talented singer and a promising pianist.

     Not only…………………………………………………………………………………...…

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 2

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

One of the (1) ……….. problems with holidays, (2) ……….. from the usual travel complications and accommodation difficulties, (3) ……….. the expectations people have of (4) .......….. .When we go on holiday we expect to leave all the stresses and strains of our (5) …….. lives behind us. We imagine we will be (6) …………. to escape to such a (7) ……….. that we even tend to believe, consciously or not, that we can leave our (8) ……………. personalities behind and become completely different people. The (9) ……….. business-person, tense, preoccupied, short-tempered, (10) ………… to relax, envisages herself/himself becoming, from the moment of locking the office door, a radically different (11) …………. of person: carefree, good-humoured, ready to relax and enjoy whatever adventures present themselves. (12) …………… practice, we take ourselves with us (13) …………….. we go, and the personality that is (14) …………… over years of stress and tension is almost impossible to shake off at a moment's (15) …………… It is no wonder so many holidays are a disappointment, no (16) ………….. how smoothly they go or how lovely the weather is. In (17) ………….., the innumerable problems that (18) …………… up during the average holiday are probably a welcome (19) …………… from the nagging feeling that we are not enjoying ourselves as much (20) ……………. we should.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
As he gets richer, he spends less money.

The richer
…………………………..
b.
Jane didn't study, and this led to her failure.

Jane's failure
…………………………….
c.
Whales are rarely seen at this time of year.

There are


d.
It is open to question whether the candidate will succeed.

It is not


e.
Everyone left as soon as she started singing.

No sooner


f.
A car like that will cost us at least £20,000.

We won't be able



g.
My story has been rejected.

I have received
......

h.
My teacher assured me that I would pass the exam.

According


i.   Greg is the most hard working employee in our group.

No other…………………………………………………………………………………………

j.   We wouldn’t have succeeded in the campaign without our sponsors’ support.

If it………………………………………………………………………………………………

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 3

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

While some people (1) ………… cooking to be the ultimate drudgery, especially those who are (2) ……….. daily with the task of feeding a large family on a small (3) ………., others find it a creative and fulfilling activity. Cooking for a family (4) …………. members are not only choosy (5) …………. also have limited tastes, an endless round of baked beans, chips and fish fingers, hardly gives the cook much (6) ………….. scope; but for the person with more (7) …………… of choice and real interest, cooking can be (8) …………. satisfying and enjoyable. For the dedicated cook, the pleasure (9) ………… with shopping; a (10) …………. to the market to choose the perfect (11) ……….. for a favourite dish is an (12) ……….. which brings all the senses (13) ……… play, as all the other stages of the process (14) ...........…. . Washing, cutting and slicing, weighing and measuring, can all be enjoyable when (15) …………… in the right spirit. And then there is the actual cooking, with (16) …………… delicious aromas. The opportunity to (17) …………. the food as it cooks, the satisfaction when you (18) …………. that a dish has come (19) ………… perfectly. But the ultimate satisfaction comes when you (20) ………….. your creation on the table and sit down to enjoy it with your family.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
I'd prefer you not to shout.

I'd rather


b.
So long as they see your badge they will let you in.

Provided you


c.
You should really be able to cook!

It's high time


d.
It is said that she stole the diamond herself.

She


e.
John was painting the house.

The house


f.
In spite of her accident she won the race.

Although
...


g.
The man only woke up after the fire was out.

Only after

h.
It seems that Linda has left her new job.

Linda



i.   It was not until we opened the vault that we realized it was empty.

Only when………………………………………………………………………………………..

j.   If I were in Adam’s place, I would apologize to Mrs Perry at once.

Adam had………………………………………………………………………………………...

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 4

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Life (1) ………. a small island may look very (2) ………. to the tourists who spend a few weeks there in the summer, but the (3) ……..… of living on what is virtually a rock (4) ………… by water are quite different from what the casual visitor imagines. While in summer the island villages are (5) …………… of people, life and activity, (6) ………… the tourist season is over many of the shop owners shut (7) ……….. their business and return to the mainland to spend the winter in (8) ………. . Those who remain on the island, (9) ………… by choice or necessity, face many (10) ………… . One of the worst of these is isolation, with (11) ………….. many attendant problems. When the weather is bad, which it often is in winter, the island is (12) ………….. off entirely; this means not (13) ………… that people can not be (14) ………… goods but also that a medical emergency can be fatal to someone (15) …………… to an island. At times (16) …………… telephone communication is cut off, which (17) …………. that no word from the outside world can get (18) ……….. . Isolation and loneliness are the basic reasons (19) ………….. so many people have left the islands for a better and more (20) …………. life in the mainland cities.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
He is proud of being such a good gardener.

He prides
.


b.
We only deliver after we have received the money.

Only after the money


c.
I'm sure he broke the vase by accident.

I'm sure he didn't


d.
He'll get used to it. Then his work will improve.

Once


e.
Despite his huge muscles he is very gentle.

Although


f.
My request was ignored.

Nobody
..
g.
"Please don't kill me!" the woman begged her attacker.

The woman pleaded


h.
You pay £60 a month for a period of two years.

You pay in 24 successive


i.   It’s rather unlikely that we’ll be able to see the shooting star.

There’s little……………………………………………………………………………………...

j.   It was the first time I saw such an extraordinary creature.

Never before……………………………………………………………………………………..

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 5

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

It is often said that the British (1) ………….. about the weather more than any (2) ………….. people in the world; some extremists (3) ………….. that they talk about nothing else. But in fact, even in countries with (4) …………. less changeable climates (5) ……….. Britain's, the weather is an endless, if not varied, (6) …………. of conversational fodder. This seems only natural when you (7) ………….. that the weather is (8) …………. of the few things we all have in (9) …………. . It affects our senses, and (10) ……………. our moods, so directly and, at times, so intensely (11) ………….. it is only natural we should talk about (12) …………… . After several days (13) …………. even weeks of dark, gloomy weather, a bright day (14) ………….. to bring out the best in everyone; people recognise the relief (15) …………… others' expressions which they feel inside themselves, and (16) …………. it hard to resist commenting (17) …………. a change which is having such an evident (18) ………….. on everyone. "Nice day, isn't it?" is much more than simply a comment on the state of the weather; it is a comment on the human state (19) …………., an acknowledgement that the tenability of our place in the universe (20) …………… on the existence of a community of human feeling.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
In spite of his absent-mindedness, he is a good teacher.

Although


b.
He was sentenced to two years in prison for drunken driving.

Drunken driving earned



c.
Many people were doubtful about the new rules.

There was


d.
There was no precedent for the chairman's dismissal.

Never


e.
It is a mystery what happened to the passengers.

The fate


f.
John moved to Ireland a year ago.

It is


g.
The family was informed of the whereabouts of their son.

The whereabouts


h.
For an athlete of his strength and speed, winning should be easy.

For such


i.   You couldn’t have seen me at the bus stop last night.

It’s………………………………………………………………………………………………....

j.   Although I respect you very much, I do think you’re wrong in this case.

Much………………………………………………………………………………………………

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 6

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

The last person I had ever (1) …………. to see was Rupert; in (2) …….…. I was so far from expecting to see him that I had (3) …………. forgotten he ever existed. I hadn't seen him for more than fifteen years, (4) ………….. as soon as I sat down opposite him on the train from Brighton to London I recognised him. He had changed (5) ………… than anyone would have expected; still the same hazy blue eyes (6) ………….. thick glasses, the unruly, dark red hair, the almost supernaturally white (7) ………….. . Even the characteristic habits, little gestures that I had seen so often when we were (8) ……….. up together that I half thought they were my (9) ………….., remained unchanged. As he sat rubbing his left ear lobe (10) …………. thumb and forefinger, crossing and (11) ………….. his legs, thrusting his head forward as (12) ………….. trying to unkink his neck, I seemed to travel (13) ………… to the years when we met nearly every day, shared the same problems (14) ………… school work and parents, and had even once planned to run (15) …………. together. I watched him for some time before he finally looked (16) ………….; when he did look at me it was, at first, without a (17) ……………. of recognition. Then (18) …………. his expression changed. He leaned forward to look at me more (19) …………., turned away and looked out of the window, then looked back at me. "Is (20) ………… you, John?" he said.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
Peter left Italy five years ago.

It is
.


b.
It was more a miscalculation than an accident.

It was not so


c.
I work out in the gym almost every day.

I hardly


d.
I never intended to accept the job.

I never had


e.
If you haven't read the book, you can't really criticise it.

Unless you


f.
He never passes a test even though he tries hard.

However


g.
We regretted that we had to miss the party.

We regretted not


h.
We told the police about our noisy neighbours.

We reported


i.    It’s unlikely that it was Ginger who left the message.

It………………………………………………………………………………………………….

j.    Though Tom learned less than the other students, he got better marks.

The other students may…………………………………………………………………………..

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 7

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Alternative medicine is (1) …………. popularity in Britain today. What seemed cranky and unreliable a mere 25 years (2) ………… is now completely acceptable to (3) ………… people. Recently, homoeopathy was publicly endorsed by Prince Charles, the heir (4) ………… the British throne. Herbal medicine is probably most (5) ………… used. Remedies made (6) …………… plants were the first cures (7) ………… used and now many people are turning to them (8) …………. than taking yet more chemical preparations.
Acupuncture, an ancient Eastern art, is widely available. Many people go to acupuncture practitioners when, for (9) …………, they wish to give (10) …………. smoking. A small pin is (11) ……….. into both earlobes in order to (12) …………. the patient of the desire to smoke. Cynics may say that they are (13) ………. by a form of faith-healing, not by acupuncture (14) ………… . However, many ex-smokers swear that it (15) ……….. for them. Meditation, massage and even reflexology are all taught on government accredited courses in Britain. Those who (16) ………… their effectiveness should take (17) ………… of the fact that traditional doctors now regularly (18) ………… patients to these specialists, and that many (19) ………… name medicines are based (20) ………… ancient cures.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
He didn't say a thing when he came in.

He came
..


b.
"Let's go home," Paul said to me.

Paul suggested


c.
Jane is much more intelligent than Judy.

Judy


d.
What particularly shocked me was his treatment of his children.

I…………………………………………………………………………………………………..
e.
The outcome of the story was never in doubt.

At no time


f.
Her second attempt at passing her driving test was a success.

She passed


g.
This will be her last appearance on the stage.

This will be the


h.
I'm sure he didn't know you'd be here.

He couldn't possibly


i.    It’s likely that Nigel has lost our address and phone number.

Nigel……………………………………………………………………………………………...

j.    I didn’t remember I was supposed to collect the mail until I returned to the office.

Only when………………………………………………………………………………………..

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 8

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

In holiday resorts all (1) ……………. the Mediterranean outdoor restaurants and cafes (2) …………….. "English Breakfast" every morning, and (3) ………….. in the early afternoon they are still filled with people tucking into plates (4) …………. with eggs, bacon, tomatoes and sausages. Those with stamina follow this with toast and jam washed (5) …………. with tea and orange juice. But do the English eat (6) …………. this everyday?
Certainly a full breakfast used to be (7) ………… for those who (8) ………… manual jobs if they could afford it. The tradition has (9) ……….. with the increase in sedentary jobs and the rising (10) …………. of ingredients; it seems that the English breakfast no (11) ……….. suits the English. These (12) ………….. have been compounded by the (13) ………… of doctors and nutritionists. The high fat and salt (14) …………. of bacon and sausages and the (15) …………… of cholesterol in eggs means that we are not (16) …………. to eat them often. The opposite of the "English Breakfast", the cup of black coffee and a cigarette is also (17) ………….. recommended. We need, it seems, a nutritious meal to start the day (18) …………. . The British now (19) ………… to eat cereal, toast and orange juice very much like people in other countries. The great English breakfast is now (20) ………… to high days and holidays.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
There is nothing he can do but wait.

Beyond.
.


b.
She acted brilliantly in her last film.

She gave



c.
Mr Jones never takes his children anywhere.

Mr Jones'children


d.
I can't think why you said that.

I have


e.
He showed me exactly what to do.

He gave me


f.
Would it be possible for you to finish this now?

Is there


g.
I would never sign such a complicated contract.

Under no circumstances


h.
The library closes early today.

It's………………………………………………………………………………………………...
i.   The soldiers are not allowed to leave the barracks under any account.

Under no…………………………………………………………………………………………

j.   It was wrong of Stella to have let the strangers in.

We wish………………………………………………………………………………………….

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 9

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

"Read a book? There must be something (1) ………. to do." This phrase is (2) ………. more and more frequently as not (3) ………… the desire but also the incentive to read declines. Young people nowadays are (4) ………… with too many alternatives (5) ……….. reading for them to find a justification for actually sitting down and opening a book, let (6) ……….. curling up in a chair for the afternoon to (7) ………… a good long read for the pure pleasure of it. Even in schools, where books have been the standard (8) ………… of storing and transmitting nearly all types of knowledge (9) ……….. centuries, they are (10) …………. supplanted by the tools of the video and computer revolution. Why (11) ………… to turn a page when by tapping a button or (12) ………… a screen the same information can be flashed (13) …………. your eyes within seconds? Even the act of reading (14) ……….. is being "revolutionized" by the advent of portable, walkman-like devices which can store and (15) ………….. the texts of innumerable books without the reader having to (16) ……….. a page. One wonders (17) ………… future generations will ever know the actual, physical pleasures of reading: the sturdy weight of the book itself, the rough or (18) ………….. texture of the paper, the soothing rustle of the pages, and that indescribable (19) ………….. of old paper and ink which is (20) …………. a perfume to the dedicated reader.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
"How did you get here?" asked John.

John asked her


b.
If the baby is a girl, we shall call her Jane.

Unless


c.
How did that pin get on my chair?

Who

.


d.
In Victorian times people didn't travel in planes like today.

Nowadays people


e.
How about one of the chef’s specials?

Do………………………………………………………………………………………………...
f.
Let's not drink another cup of coffee.

It would


g.
The doctor advised me to go into hospital.

The doctor said


h.
Listen to the teacher and make notes at the same time.

Take


i.   His answers might have been unclear, but they were not untrue.

Unclear…………………………………………………………………………………………...

j.   If you want to know my opinion, I am for the project.

As far……………………………………………………………………………………………..

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 10

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Alternative lifestyles have existed (1) ………… a variety of forms since the (2) ……….. of organized society. There have always been, and (3) ……….. always will be, people (4) ………. feel a need to escape (5) ………… the mainstream of society and (6) ………. a way to live that conforms more closely (7) ………. their individual tastes and needs. The (8) …………. "alternative lifestyle" itself is a by-product of the social revolution of the 1960's and 70's, when the "Hippie movement" and (9) ……….. various back-to-nature and cultist off-shoots were in (10) …………. prime, but the concept must be as (11) …………. as mankind itself. It seems evident that in every society there (12) ………… have been a few people who found (13) ……….. unable or unwilling to accept the status quo, who felt compelled to (14) ………….. a better - or at least different - life, out of (15) ………… of the restrictions and standards that any society must impose (16) ………… its members. The monk in his monastery, the hermit in his cave, the solitary "witch-woman" (17) …………. in isolation in the forest, must all have been seeking an alternative (18) …………. the current standards of acceptability prevalent in their own societies. In our own times the punks, gang-members and followers of cult-leaders are seeking, in their (19) ………….. ways, to find a life more (20) ……………. to their individual needs, desires and dreams.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
People say that Einstein was a genius.

It………………………………………………………………………………………………….
b.
There are few books in the library.

The library


c.
She was driving so slowly she was passed by a bicycle.

A bicycle


d.
Passengers must not smoke on the train.

It is


e.
Sadly, there were many victims in last week's earthquake.

Sadly, many people


f.
The professor made the decision to mix the chemicals.

The decision


g.
He was not upset by Mary's letter.

He didn't


h.
I wish the weather weren't so hot.

If………………………………………………………………………………………………….
i.   Julia prefers being served to serving other people.

Rather…………………………………………………………………………………………….

j.   Michael rarely forgets about the promises he makes.

Scarcely ever……………………………………………………………………………………..

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 11

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

In the light of the recent Lockerbie disaster we have (1) ………. to appreciate the importance of airport security. Admittedly the general public are often (2) ……….. by the red tape which accompanies security, but are these precautions unnecessary? Not only must passengers have proof of identity (3) ………… they can also be subjected (4) ……….. body frisks and metal detectors and have their luggage checked and x-rayed. Particular rules accompany air travel and travellers will be questioned in (5) ……….. to who packed their luggage, if it was left unattended at (6) …………. time or if they are carrying anything which does not (7) ………. to them. The departure lounge of the airport is also out of (8) ……….. for those who do not (9) ……….. a valid boarding pass. Long queues, delays and inconvenience often instigate complaints (10) ……….. the client, but surely more security should stimulate more faith in air travel? In December 1988, a Pan Am jet took off from London Heathrow (11) ………. for the USA. As the jet was flying over Lockerbie, Scotland, it (12) ……….. up, killing everyone on (13) ………….. . It is now more than three years later and the two Iraqi terrorists (14) ………… for the bombing have not (15) ………… been extradited from Iraq and (16) ……….. for sanctions have been made repeatedly. The question on many lips is, "What went wrong at Heathrow?" Living in a politically intense and often corrupt world, terrorism and drug trafficking must be prevented at any (17) …………; standing in long queues for hours while baggage is (18) …………., is undeniably frustrating, but how much better than a disaster that results (19) ……… death? Without doubt, it's better to be safe than (20) …….. .

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
Mary prefers going to the cinema to going to the theatre.

Mary would sooner


b.
Thousands of people all over the world watched the beauty contest.

The beauty contest


c.
His car was stolen.

He………………………………………………………………………………………………...
d.
He regrets moving to a smaller house.

He wishes he



e.
Perhaps they haven't returned yet.

They


f.
Why did he behave so rudely?

What


g.
The singer's last song wasn't very good but it became a success.

Bad


h.
You can't enter the building if you don't have a permit.

Only if……………………………………………………………………………………………

i.    He was so hungry that he ate ten hamburgers.

Such……………………………………………………………………………………………...

j.    I only realized the full implications of what had happened some time later.

It wasn’t………………………………………………………………………………………….

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 12

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

The issue of fate or free will is a very controversial one and has been debated (1) ...... the beginning of the fifth century. The question was first addressed by Saint Augustine. Is man's existence (2) …… by fate or by free will? Belief in free will is based on the conviction that humans have a hand in shaping their (3) …. lives and, therefore, are ultimately responsible (4) ….. their own actions. This theory, called existentialism, was derived (5) ..… the ideas of a Danish philosopher and later made popular by a French writer. The theory (6) ….. man as a unique and isolated individual in a violent and meaningless world, able to choose his own destiny.
On the other side of the (7) ……, the theory of predestination is based (8) .… the belief that everything which happens has been predetermined by God and that man is not able to change it. So, the fork in the road of life seemingly offering man a choice (9) .… two very different paths, may not exist in reality. If this is true, can man be (10) ….. responsible for his actions? If choices are beyond our (11) ……., are we wasting endless hours of our time trying to (12) ..… to a decision that has already been made for us? Can the man who murders his neighbour be (13) …… for doing so simply because he had no choice?
In trying to answer these kinds of questions, many philosophies have developed compromises between the two extremes. (14) ….. such theory developed in the seventeenth century (15) ..… that human actions are formed according to past experiences but that (16) ….. the use of imagination and reason man can turn these past experiences (17) ..…. foresight, therefore allowing him to (18) …….. his future. Whatever theories are formed, the controversial (19) …… remains for public debate even today. But, perhaps, simply by choosing to believe in the philosophy of fate or that of free will, man is in fact creating his own life. Existentialism (20) …… predestination - which do you choose to believe in?
II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
I couldn't have managed without your help.

If it



b.
While I don't like your attitude, I'm willing to listen to your opinion.

Despite my
.


c.
I only asked for his help when I had no one else to turn to.

Not until


d.
I expected her to be on time but she wasn't.

Contrary


e.
It's pointless to cry.

There's no


f.
Even though I hate going to the dentist's, it can't be avoided.

Much


g.
He never made me do anything against my will.

I


h.
It's rather unlikely that we'll be able to see the shooting star.

There's little


i. To threaten him with prison was the only way we could make him speak.

Only by………………………………………………………………………………………….

j. It was an impressive building but it wasn’t to my taste.

Impressive………………………………………………………………………………………

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 13

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Although to "civilized" modern society the idea of slavery may (1) ……… unacceptable, it was (2) ………… a part of everyday life in the ancient Mediterranean and near East. Not until 100 years ago (3) ………… it abolished in (4) ………… British Empire, and America can boast a four-hundred-year history of slavery. At one (5) ……….. it was customary for prisoners of war to be (6) ………. slaves - during the 5 th century B.C. there were an (7) ………….. 125,000 slaves in Attica in Ancient Greece. Those involved (8) ……….. industry or domestic employment were probably fairly (9) …………- treated. On the other hand, those (10) ………… in the mines apparently worked under appalling (11) ……….. .

The same was true (12) ………… the slaves in Republican Rome. Indeed, they were treated (13) ………… badly that a massive revolt of 90,000 slaves was organized by Spartacus in 73-71 B.C. Later, throughout the Europe of the Middle Ages, slaves were engaged (14) ……….. courts and also worked for rich merchants.
(15) …………, it was the supply of West African slaves to the New World which saw the industry at its (16) ………. . Slaves were shipped across the Atlantic to work in the fields with crops (17) ………… as tobacco, rice, cotton and sugar cane. Although approximately twenty million slaves survived the torturous journey, millions more died (18) ……….. the way. It was not until a particularly violent Civil War (19) …………. the South followed the North and emancipated (20) ………. slaves.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
Who does this house belong to?

Who is


b.
There's every likelihood that Sue will pass her exams this year.

It is


c.
I don't know much about early Celtic civilization.

My………………………………………………………………………………………………
d.
They found the service at the Hilton very impressive.

They were


e.
It is impossible for me to do this again.

There is


f.
The reason why he died was never discovered.

The reason for


g.
It is known that the actress took a drug overdose.

The actress


h.
The accident happened so suddenly that no one had time to react.

So………………………………………………………………………………………………..
i.   They gave me a place to stay and they didn’t want any money in return.

Not only…………………………………………………………………………………………

j.   Such a ridiculous proposal isn’t worth serious consideration.

There is………………………………………………………………………………………….

Communicative Grammar

Close tests & Paraphrase (II)
PRACTICE TEST 14

I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Alfred Lord Tennyson (1809 -1892) is regarded (1) ………. one of the great English poets and a powerful voice from the Victorian Age. Born the (2) ……….. of a parson, he (3) ……… Trinity College, Cambridge, winning a medal for his poetry. However, his (4) ……… published work, (5) ……….. the age of twenty one, attracted (6) ……… attention from the public and it was not until twelve years (7) ……….. that a third volume, "Poems", was to (8) ………… him the recognition he deserved. Many of those poems from his youth are (9) ………… among his most famous. (10) ………. the death of William Wordsworth in 1850, Tennyson had (11) ………. himself sufficiently to take his (12) ………. as Poet Laureate and it was during this period that some of his finest works were produced. The themes of his poetry (13) ………. from Medieval Romance to the forces of nature and through them constant attacks are (14) ………. on the brutal hypocrisy of the Victorian era. There are those (15) ……….. would (16) ………. that this last area was more skillfully dealt (17) ……… by the Victorian novelists rather than the poets, (18) ……….. the strength of Tennyson's writings has ensured his (19) ………… among the great literary (20) ………….. of history.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
He urged them to stay where they were.

They



b.
Is it necessary for me to bring a reference?

Do



c.
I don't want you to eat any ice-cream.

I'd rather


d.
They seldom have visitors.

Seldom


e.
In spite of many difficulties, progress is being made.

We are


f.
We don't have to go back to the office.

There's no


g.
Suppose I was eaten by a crocodile?

What


h.
It's the best we can do.

We can't


i.  Jack loses his temper easily.

It doesn’t………………………………………………………………………………………...

j.  We can only invite a limited number of people.

There is………………………………………………………………………………………….

Communicative Grammar

Close tests & Paraphrase (II)
CARD 15 (PRACTICE TEST 15)
I. Fill each of the numbered blanks in the following passage. Use only one word in each space.

Phoenix-like from amidst the ecological ashes comes a story of hope. At dawn, on a usually deserted beach on the Greek island of Cephalonia, crowds compete (1) ……….. journalists and television crews, gathered together to (2) ……… the arrival of something rather special.
Four years ago, eggs (3) …….. by the rare Loggerhead turtle were found in a nest on this very beach. It was judged by experts that it was too late in the (4) ………. for the hatchlings to have any (5) …….. of survival in the wild, so action was taken. The British charity, Care for the Wild, decided to fly the eggs back to Southampton University and attempt to hatch them under special (6) …….. in incubators. All four eggs hatched successfully and it was decided that when they were four years old, they were (7) ……… of surviving in the wild. They were returned (8) ……… the remote beach, which remains unmolested by the ravages of tourism, and released in (9) …….. of an audience of excited well-wishers. An example, one might say, of positive human intervention in the (10) …….. of natural selection!
However, their fight for survival is far from over. The Loggerhead turtle is one of the (11) ……….. endangered species of all. It has inhabited the earth for approximately ninety million years and is now facing a man-made threat which has (12) ……… its survival in a precarious (13) ……….. . The turtles can live as (14) ………. as one hundred years but they don't even begin to (15) ………. characteristics of their gender until they reach thirty. Effectively, our four heroes will have to struggle (16) ……… another quarter of a century until they begin to fight back and fulfil some of the hopes invested (17) ……….. them. In that time, they will be forced to resist not (18) ……… natural threats, but also dangers imposed (19) …….. them by the fishing industry and tourist development. Their chances are slim to say the least, but it is hoped that their story might (20) ………. awareness of the plight of the turtles.

II. Finish each of the following sentences in such a way that it means exactly the same as the sentence printed before it.

a.
It can be lethal to be bitten by a tarantula.

Being


b.
This is all I have to tell you.

I have

.


c.
Their houses were completely rebuilt.

They


d.
The danger doesn't appear to worry the true lion-lover.

The true lion-lover


e.
If I were you, I'd leave now.

It would


f.
People still speak Welsh in some parts of Wales.

Welsh


g.
Harriet was delayed so she missed the bus.

Had Harriet


h.
It's a pity I didn't think of that before.

I wish


i. It was only because I owed him a favour that I agreed to help him.

But for…………………………………………………………………………………………..

j. Mike hasn’t done much to improve his pronunciation.

Little…………………………………………………………………………………………….
